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Moltiplicazioni per multipli di 10, 100,1000 Nome:
Calcola la risposta per le seguenti operazioni. Risposte
1) Se4 x9=36,allora40 x9=
1.
2) Se 5 x7=35,allora5.000 x 7=
2.
3) Sed4x7=28 allora40x7=
3.
4) Se 8 x9 =72, allora 800 x 9 =
4.
5) Selx8=8,allora 100 x 8 =
5.
6) Se 8 x5=40, allora80 x 5=
6.
7) Se 4 x 8 =32, allora 400 x 8§ =
7.
8) Se?2 x8=16, allora2.000 x § =
8.
9) Se9 x9=281, allora900 x 9 =
9.
10) Se 3 x5=15,allora300 x 5=
10.
11) Se 6 x 8 =48, allora 6 x 8.000 =
11.
12) Se 3 x 9 =27, allora 3 x 9.000 =
12.
13) Se 6 x 5=230, allora 6 x 5.000 =
13.
14) Se 8 x 4 =132, allora 8 x 400 =
14.
15) Se 6 x3 =18, allora 6 x 30 =
15.
16) Se 7 x 5=235, allora7 x 500 =
16.
17) Se5x5=25,allora5 x50=
17.
18) Se1x9=09, alloral x9.000 =
18.
19) Se 7 x2 =14, allora7 x 200 =
19.
20) Se 7 x 8 =156, allora7 x 80 =
20.
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Moltiplicazioni per multipli di 10, 100,1000 Nome: Soluzioni
Calcola la risposta per le seguenti operazioni. Risposte

Se 4 x 9=236, allora40 x 9= 360

. 360
Se 5 x 7=135, allora 5.000 x 7= 35.000

2. 35.000
Se4 x7=28, allora40 x 7= 280

3. 280
Se 8 x 9 =72, allora 800 x 9= 7.200

4 7.200
Se 1 x 8=8, allora 100 x 8§ = 800

5. 800
Se 8 x 5=40, allora80 x 5= 400

6. 400
Se 4 x 8 =32, allora400 x 8= 3.200

7 3.200
Se 2 x 8 =16, allora 2.000 x 8= 16.000

8. 16.000
Se 9 x 9=281, allora900 x 9= 8.100

9. 8.100
Se 3 x5=15,allora300x 5= 1.500

0. 1.500
Se 6 x 8 =48, allora 6 x 8.000=48.000

1. 48.000
Se3 x9=27, allora3 x9.000=27.000

2. 27.000
Se 6 x 5 =130, allora 6 x 5.000=30.000

3. 30.000
Se 8 x4 =232, allora 8 x400=  3.200

4. 3.200
Se 6 x 3 =18, allora 6 x 30 = 180

15, 180
Se 7 x5=235,allora7 x500=3.500

6. 3.500
Se5x5=25 allora5 x50= 250

7. 250
Sel1x9=9 alloral x9.000= 9.000

. 9.000
Se7x2=14, allora7 x200= 1.400

9.  1.400
Se 7 x 8 =156, allora 7 x 80 = 560

20. 560
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